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Q1 frffae & & % 3t 3% e v =@ (Non-Conventional) i soft & smr & 2
A =rrer

B .¥giferemr

C .urepferes e

D smir i

Ans: D

Q2 Frferfiae & & i T BT ST i e ® 7
A e e

B =rrer

C afrraer

D syerefter st

Ans:D

Q3. forefefiad # & forer wrebre < St & ey 7 o1 guOT T @ 7
A e gt

B refer wsit

C arfirehir wit

D diw it

Ans:D

Q4 s ¥ it b1 g w2
A srfvee

B ardiar

C ~so-forga

D st

Ans: B
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A =iear

B . fafersm
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Ans: B
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Q6 wfirm it Teelt gt srer—fore weiemT wra  Frforfad Tt & fre fom & 2
A S it i

B femmrer wiwr

C. sremrerer wewr

D secwesr

Ans: B

Q7 .oreer i Foreger sqfes wrers ey st e g ?
A =rershrar

B arfstferr

C.get

D=2

Ans: B

Q8 fereger wfwirerT 35 T 3 T - T Srer TR ?
A qe=r - s TR

B s - s

C.#amr - i

D .wmmjen - e e

Ans: C

Q9. sirsrr et it & -
A Seriesh s w forg
B . sfer dter gie o forw

C < s o

D tregfirfrerer wie ¥ forg
Ans: B

Q103w srr-forge wiftws 3% (Hydro-electric power station) ==t w wnfira firm ot ?
A st

B.amiex

CH=er

D fereregzm
Ans: D
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BA—-3B—-4,C—->2D-—1
CA—-2B—-4C—->1,D—-3
DA—-2B—-4C—3D—1
Ans: C

Q1 2. syerdter st o e wesheor forsteft e forer oo o feorr € 2
A ot wEr

B femmarer weer

C 5wy it shwefic

D e

Ans: B

Q13 ur # et ferege Seuret # qro—fergga S AE © -
A.60%"

B.70%"
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D.90%"

Ans: B

Q14 e v e s & -
A oy i e 3

B srer— e i w3
C.y—ardfrr wifes Geit =g

D v wifee et g

Ans: D

Q15 5= | =r g || & girfer fifere - w=h-| A, Rt B. =ier C. wmjen D. sreertar ge=i-11 1. sxfame 2. qeawesr 3. gammr 4.
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AA—-1,B—2C—-3D—4

BA—-2B—-1,C—3D—4

CA—-1,B—4C—2D—3

DA—-1,B—4C—3,D—2

Ans: B
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A dfirerrg
B werrs
C.fmr

D =

Get Education Update Visit Our Website:- www.HelpStudentPoint.Com

Join Our Telegram Channel:- https://t.me/helpstudentpoint




I -—1
dp.Woint. C v
EducationlPort=aill
EFTSTEY T ... =SFT=T=X =STTIrY

Ans: B
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Ans: C

Q18 &m#gmrs -
A refar frsdor

B e st sedrer
C. s ferga seare

D .=rrar see
Ans: B

Q9. s =7 e wemTo] STt e hE -
A = (sewe)

B amre (wemr)
C =reven (dfierg)
D s (i)

Ans: B
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DA—-2B—4C—3D—1

Ans: C
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